DN

T

&

1+400.00 1+475.00 1+550.00
T T T T T T T T T T T T T T T T T T T T T T T T T T T 4 T T T T T T T T T T T T T T T T T T T T T T : : 1+625.OO M 1+775.OO 1+875.OO .
: 380 38 : T \3 50\ 1 L L L L T 1 L T ] 384 393 T 1 L L T 1 L L L L T 1 T 1 T 1 T 1 T 1 T 1 T T T T ] 393 396 [T 1 T 1 L L L L L L L L L L L L L T ] 396 400 [T T L L L T 1 L L 1\-I_\ 7\0[\) \O\O L T 1 T 1 L L L T 1 400 o Lo Y Y o o o o Y Y Y Y P o o Y ] 408 ‘o Lo s t t t t t t t t t t b b b T 415 K M 1 + 4OO - KM 1 + 925
] * 0.9 1 ' ] B 0.7 ] B ) i : ] 1.1 i B 350 §
i N A 050 175 175 1050 . - : - - 0.9 ] B - 0.9 ] r X ’ § r - 10 f A .
350 1 1 379 383 | | 0 ] 1 1 383 392 N~ 5 4 392 395 | N Xe) 395 399 N 0 350 1 309 Y7 [ N:+—0.0 . 3.50 5 1 407 414 | N-—0.0 9.361 1.75 175 19-5% 414
75 1.75 10.5% ] r -0 207 382 a0n gy 1 § | : sko 1 C 050 Py 50 bso 1 r o7s! 175 175 107, 1 - T T 1
] i - 115 —— i . - f f 1 C ' ' = ] i 1T 11 1 1 - 1
1 378 382 | e S——— — = = B2 391 < 391 304 080 130 75 175 1q75 1 1 E 406 406 413 6. 6.0% 4.4 EGE D :
0% 575 207 60% .15 == - ///é e e e t::ﬁ\wﬁ ,/// i C 3 3.50 B _ -7 C ]" | T r i' . %W or g B0%__ 208 3975570 6.0k - 1 998 C 115 =6.0% 2.0% 40554 9o0m 6.0% . C Ut Ef — . 1 4 |_ N A :
= —— — == -7 ] e iart it ity B 1.20 Sord ] C . - - ] C a8 = =2 1:15 -7 ] C [ 7zl R S D, = - - - _ B —— ~ ]
_______________ 3 — [ J-——L J._‘LL - 1 s 300 © 0.50 2.25 1 175 1.75 1c.75b -7 ] L -6.0% ___2.0% 39307 20z 6.0% - ] C L === o - ] 405 L S | g S R N M o il 1:15 Pl ] F——d———r—— |- e P o~ . -———— stan istniejqc
Py 376,50,771:1.5 1 - i - | | | | o 1 390 393 T : — — =5 = 393 397 S = ——=—ELEEL EETTEE! SRR S SN\396.73 T 397 C - == —— —| 1 405 412 - 10 > 412 Jacy
| 120 | ] i 1 i e 1 - A== e R R e e BT s 1 C 17 130 | | e ] i -7 140 | | 140 \94-41 11 1 - o~ . stan projektowan
| ] C _6.0% ~0.0% Doz 38914 -20% . E% - ] - T i 1_EO | 1_50: IN392.301:1.5 ] B - j il . 1 - |- ] : ~ : proj y
1 : 1 B L — ——= & 1 8 %2 I S — 1 392 3% | - R S i ] T Tl 1 - — — granice dziafek
1 i ] SRS U e I . - - - - . ] i ] C S ]
] 7\ 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 \7 B -[ 360 |’ : ;/// : ;”” ] L ] I \\ :
1 375 379 379 388 1 388 391 F 391 395 1 305 403 | 403 410 | >~ 410
1 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 C . - - L i C ] B .
1 374 i E - ] r 1 L i C 1
| 14+500.00 387 4 387 390 | 390 394 s 102 {402 409 | 409
: 388 7\ T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 388 : ] B : : : : ] L :
“ O 373 : '\ 1 9\ E 386 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 \7 386 389 7\ 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 \7 389 393 7\ 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 \7 393 401 : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : ‘7 401 408 7‘ ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! : : : : : : : : : : : : : : : : : : : : : : - - ‘7 408
- 1 2 3 4 5 6 7 8 87— 0 1 387 8 -7 -6 -5 -4 -3 -2 - 0 1 2 3 4 5 6 7 8 8 -7 -6 -5 -4 -3 -2 - 0 1 2 3 4 5 6 7 8 8 -7 -6 -5 -4 -3 -2 - 0 1 2 3 4 5 6 7 8 . 0 1 ‘ : ‘ E ° / ¢ e e v 1 ! ? ‘ 8 o / ¢
1+425.00 - ] 1+800.00
s b ] 1+575.00 1+650.00 14725.00 410 [ T e e R T e e 410 1+900.00
T T T T T T T T T T T T T T T T T T ] B 386 395 T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T L i 4“
. r NN 36 T T T T e T T T 396 403 — — 403 - ] L L L L L L LA L L L LA L I NN ELELELEY B
] : . 350 . - - .10 ! B ] g ] ; 1.5 350 . ] i ' §
. ] I 050! 2 I -7 i : - 1 i 0.7 1 - - 08 ] 409 N 0 0751 175 175 Lo 1 409 C 1.1 3.50 1
2.00 ) ] 380 385 N >3 > - = = 385 394 N al 394 395 N 1 \ N i L . . Je e L i 417 N N 4 -+
175 175 1075 1 i 11 111 -7 ] C - v . - - ! ] 395 402 N U 402 L I I | | N B | 0 050 17 75 1050 1 417
. . e 1 I~ - - 1 - , - Je I le i
= T ] C “5}5_3% 2.0% 384.13 90z 6.0% e ] r . - ] B 3.50 . ] 408 L 115 —60% 2.0%_40804 5oz 6.0% L 1 408 - 117 1711 ]
= %— . - . - 4 L — AR = B 4
0% 37865 2.0% 6.0% ]9 B e s e sy i m ] B/ 393 393 394 =3 394 401 0.5 2.00 150 10.50 1 - Dz ————=~_"" P — 416 —p0% 41575 -2 6.0% 416
% 115 ] i == T v B - ] 3.50 —‘///, L /// i B 12 P ] 401 r - — T e :_‘\ ,—'—‘" -1 = —6.0% ° ° Lol L 1:15 -
— - — T T TN\ IR R b L e ] 63:1 ——— NBQ{ZS’ 1:15 ] C + - + e ] B _--T § C 1 1 1 - -7 | 140 | | 150 \%94//:1.5 - - i ;_ﬁ_—__—=_—__—:——§ ]
""""" e =IN35 1 358 a3 F | 150 | 1 33 300 [ 075, 175 175 1075 . 1 s 305 [ > 1 w5 a0 & 15605 205 40005507  goq B e T B — — ; 1 47 45 B——d e s L LR AR N e = N 1 4
1.40 N ] C . - 1 1 1 1 /// 1 - - HL) ] L S R s -7 1 400 C ] C TASMSB 120 J'—”))—l' . 130 | N ]
] I 7 B L E - -7 ] B niinn I B EERERE 2 - T B - - ~ ]
i . - _6.0%  -p.0% 3L -20% 6.0% - ] C - r o= — 199,23, 7 1 406 406 - ~
: = =—— == . - . - ~ = 1:1. ] B i
1 77 38z ¢ 1 382 301 | 1.,1._5/_ —— 1% - 391 390 // 0 e _ L 140 | | 120 | 1.5 . I ] I N »
] a ] C R "':‘:\W/H'O 1 - 1 C -7 ) ' ) i . - N . g, N
] B 7 R P b — ] - — — - 4 - - ] [ I ] I S e (=4 N
‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ i L 1 ) ] I ] r ”” . 405 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 - 1
7] 376 38 T T R * T |60 | Le0 | 1 30 301 | 391 398 Fo 1 398 8 7 6 5 RN o R I N N
) -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 - . - 1 - ] : . i i - - N - ; 1 i ’ ' ’ i ' ’ - ] - = <
1 s i ] B § - . 1+825.00 - ! \© . .3
: 1+525.00 389 N ] 389 390 N . 390 397 B 397 413 r 1 1 1 1 T 1 T 1 T 1 T 1 1 1 1 1 LI LI LI T 1 1 LI LI LI LI ] 413 412 - i 412 E\ —g o GE) _é
: 391 r T 7T T 7T T 7T T 7T T 7T T 7T T 7T T 7T T 7T L L L L LI L T 7T ] 391 : : : : : : : 1 5 T : : D ‘% 8 23 %
374 : C‘8 E 388 [ [ [ 111 [ [ [ [ [ [ [ [ [ [ 111 [ 388 389 L1 L1 11 11 11 11 11 L1 L1 L1 L1 L1 L1 11 11 L1 ] 389 396 L L1 L1 L1 L1 L1 L1 11 L1 11 11 L1 L1 L1 L1 L1 L1 ] 396 412 : |'\ .O i 412 4an ] 411 = 8 -
-1 0 1 2 3 4 5 6 7 8 390 N 7 S 5 4 3 f =2 f ] e 2
- N- —/ 1 390 - - - -2 -1 0 1 2 3 4 5 6 7 8 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 C 0751 175 175 1075 1 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 T g
| ] L le le le le i el @
1+450.00 : * 14600.00 1 N e "3
T T T T .\ T T T T T T T T T T T T T T T T T T T T T T i : +675.OO i ] 1+925.OO ‘o o *
n | N |I - e e 1+75OOO 405 i g —BCE —on 41045 107 60% s ] 421 L 421 3 ~ N
I 1 1 r § C . - ] - ] a0 e R e et i ma S B\ = i - 3 350 . o = =
,iQ 75 1.75 ,iD'SE,L 1 381 388 . 350 . - 88 395 L N 1C78 4 L NN C/'7\IZ ] L . 10 3.50 ] L T “\\\40942 — = A e 70 - NB 1?\ 0751 75 1.7 ’iE) 50 1 g:-: \g h=
6 0% 38037 0z l ] ’ 0.50 3.00 T i 175 1975 ] ! i I N E U 3.50 A ) 0 050 200 b 404 I pa~T 1] | 150 Qs . oy - T T o S| 3 =
0. ° o 60% : : > le L - . L ’e 1 = - - . g : : ’ ' D 150 50 ] I o I ) X o 1 B : Q S c
. i L i = -
£= — N\ —==r~"7 3 387 F ]» «J e 1 o aadog 101 -7 ] C ] r 0.50 2.00 1.50 19-50 ] C 1 1 ] 0T 1 : 607  -2.0% 41902 -20%  6.0% ] s v . Ty w
E—= R R = 3\\@;2 = ] O 15 SB0% 2.0% 7% 8678 0.7% % - 1 387 394 | - 350 5 1 394 396 | ] 1 —{ 396 403 5 -80%__20% 4027808 g L= 403 C 1 A 15— = 1125 T ===3 419 L= 3 g o o g
1. 1 Ao ] C = -_—— = N\ _ 1 - i L _ 395,40 o -7 B I R 1:1.0< L= ] C . R — L ——— == T T T ] c > . ) = S
A Joro | . - e e B R R E TN e | I 050, 300 R 175 1075, ] B 115 0% 207 20% _ 6.0% 1 0c - ] B e N " ] 408 1 1 408 - Tosepr” == N 118 — K| = e |8 g e
1 379 386 [ [ e B = — —— 3 1:1.5 386 393 [ ] | | = ] C ,f____,_,___*_____?\ _-- 1 r e T i — s § L ] L 1:15 L 140 | | 160 | \417.922 ] c x| o — PN
. I,— 4.30 L 160 ] L - 1 o o - ol i N e N = —~ 395 402 - 1.30 L ] IO_L 4016/5/ 15 402 - 1 418 L ) =t P 418 8 c o g
] - 4 ' ” . - - ; - ! i DS By = =N\348 77, ] C - ST - ; . C : - ! = o
1 - 1 - s —6loz ~2.0% -2.0% 392.34 2.0% . % 05 /// ] C // I 1.30 ’||, 160 \L/15 ] - _ - . 407 [ L1 [ [ [ [ [ [ [ [ [ [ [ [ [ [ 407 | ist. korytko betonowe i g 8 o _B 8
—_———— ———— — == L__ i B - N - - - i i 1 ~ e~
{ 38 385 1 3 392 | P i e v e R = N 1 392 304 [ — 394 401 - 401 8 -7 6 -5 -4 -3 -2 0 L 2 3 4 5 6 7 8 arr o o Dol 2 o |2 =
. - ] B £ = = === 1. ] r P ] - . L ] o -~ = .Q
| 1 - / _ 4.30(0.50) | | 150 1 - - 1 i 1 » 1+850.00 i 1 -2 8 %’, = £
L1 L1 L1 L1 L1 L1 L1 L1 L L L L L L L L M — = = b - - - . - , LI LI LI T T LI L L L T 1 L T 7T T 7T T 7T T 7T T 7T T T 7\ [ L1 L1 11 [ [ [ [ [ [ ] kv
“ 384 391 / ///,, ] 391 393 — . 393 400 - 400 : i 414 416 L1 L1 L1 L1 L1 L1 416 w ‘g -g no: ﬁ §
- 0 1 2 3 4 5 6 7 8 8 -7 -6 -5 -4 -3 -2 - 0 1 2 3 4 5 6 7 8 I 1 C 1 i . C n 1l 1 N ’ 1 ‘ ? ‘ B 0 / 8 M 8|S 3| &
C . - ] C . 413 N 17 '075 1 413 (=} - |8 )
390 | 1 390 392 | 392 399 . C | 4 . 2 L |8 >
L 1 3 i r . e)
L ] B = - i u . a oo O
7 i ] : r 412,01 —2.0% 6 . . =& 3
389 L 1 7\ Ll L1 | L1 L1 L1 L1 L1 111 111 111 111 L1 L1 L ] B : 412 - -1 20% 227——-'—"_‘30% 1;-5—___———————_ 4“2 — -g 8
N ] 389 391 L L1 L1 301 398 L1 L1 L1 L1 L1 L1 L1 L1 L1 L1 | L1 L1 L1 L1 L1 308 r L —— = T N\ 1 (3' '&' M -8
i : 8 -7 -6 -5 -4 -3 -2 -1 0 w 2 3 4 5 6 7 8 8 -7 -6 -5 -4 -3 -2 -1 0 : 2 3 4 5 6 7 8 il Bl B R ' ]:: :I . a g «
L ] 1.40 ] S ‘N
388 L1 L1 L1 L1 L1 L1 L1 L1 L1 L1 L1 L1 L1 L1 L1 L1 388 4n - A . 41 gE -E
8 -7 -6 -5 -4 -3 -2 - 0 1 2 3 4 5 6 7 8 ] -U e
410 1 4 3 .. £ .. £
. {410 s | 2 £ & 58]
: * LD S8 |58]e
- § g H $° g S|2%
409 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 409 E g nho_ \'_E, Oa-é '26' g
-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8




